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rESE—AEICEITOMAHRE R ERER

i : E1202-33

D2 E
BIEE(RA4oa—X)LER)
AIE B - Xf& I TE Hh 2 HITE 27 &%
5cm 50c¢m 100cm
OB AR (X R MEEE) — 0.06 — PA-1000
1/6 (K) BN Q@RI HER; — 0.07 — PA-1000
QR F i — 0.06 — PA-1000
Ot o ilER (4 R %) — 0.05 — PA-1000
7/1(K) &Y QRF) T #E — 0.06 — PA-1000
QR F — 0.06 — PA-1000
ERR31EE
BIEE (R4 —~)LNEE)
HBIE B - X B #h = HBITE 25 e
5cm 50cm 100cm
OB AR (2 R MEEE) — 0.06 — PA-1000
12/8(K)EY QRT) 2T HE R — 0.07 — PA-1000
@RV FH — 0.06 — PA-1000
OB AR (2 R MELE) — 0.06 — PA-1000
772(R)EY QRF T HER — 0.07 — PA-1000
QR F — 0.06 — PA-1000
2/9 (B4



rESE—AEICEITOMAHRE R ERER

i : E1202-33

AR 304 BE
BIEMBE (XA —N)LER)
AIE B - Xf& I TE Hh 2 HITE 27 &%
5cm 50c¢m 100cm
OB AR (X R MEEE) — 0.06 — PA-1000
1/71(A) BN Q@RI HER; — 0.06 — PA-1000
QR F i — 0.06 — PA-1000
Ot o ilER (4 R %) — 0.06 — PA-1000
774K BN QRF) T #E — 0.06 — PA-1000
QR F i — 0.05 — PA-1000
L2945
, BIEE (20— )LNER)
BIE B -RIE B 5E Hh BIE 2R &
5cm 50c¢m 100¢cm
gt ol ER (4 R E%E) — 0.06 — PA-1000
1/4(R) BN Q@RI HER — 0.07 — PA-1000
@RV F — 0.06 — PA-1000
gt ol ER (4 R E%E) — 0.06 — PA-1000
7/4(X) &Y QRFI T HER — 0.07 — PA-1000
@RV T — 0.06 — PA-1000
3/9 (B4
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k284 BE
BIEMBE (XA —N)LER)
AIE B - Xf& BT Hh 5 HITE 27 &%
5cm 50c¢m 100cm
OB AR (X R MEEE) — 0.07 — PA-1000
1/4(K) BN QR #E R — 0.08 — PA-1000
@R F — 0.06 — PA-1000
Ot o ilER (4 R %) — 0.07 — PA-1000
1/1 (&) BN QRF) T #E — 0.05 — PA-1000
@R F — 0.08 — PA-1000
FERR214EFE
, BEME (A0S — A LEE)
HBIZE B - Xz I TE Hh 2 BIERR e
5cm 50c¢m 100¢cm
gt ol ER (4 R E%E) — 0.07 — PA-1000
1 g&%gﬂgh Q@RI HER — 0.09 — PA-1000
BRUFH — 0.11 — PA-1000
gt ol ER (4 R E%E) — 0.07 — PA-1000
7/70CK)EY QRT T HER — 0.09 — PA-1000
@RV T — 0.07 — PA-1000
4/9 (Z4)
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TR 264EFE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
Dt ER (X R MEHLE) — 0.08 — PA-1000
1/5(R)EN QRTIUTHER — 0.10 — PA-1000
QRUF — 0.11 — PA-1000
Dt ER (X R MEHLE) — 0.07 — PA-1000
10/1(K)£Y QRTIVTHEER — 0.08 — PA-1000
@RUFH — 0.11 — PA-1000
OB oL ER (& R NEZE) — 0.08 — PA-1000
7/1CR) BN QRTIUTHEER — 0.09 — PA-1000
QRUFH — 0.09 — PA-1000
OB oL ER (& R NE%E) — 0.08 — PA-1000
4/10(K) EBh QRTIUTHEER — 0.08 — PA-1000
QRUF — 0.10 — PA-1000
5/9 (B4
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T RR254ERE
HER- KR AT RER (e Aony — 2R HES ti%
5cm 50c¢m 100cm
. Dt i ED (X A MERZE) — 0.10 — PA-1000
2 j?fﬁ;%u @RIV R — 0.10 — PA-1000
QRUFH — 0.11 — PA-1000
OFih Bl ER (& R MfZE) — 0.08 — PA-1000
12/3(k) EEh QAT W E R — 0.10 — PA-1000
QRUFH — 0.11 — PA-1000
OEih Bl ER (4 R MfiZE) — 0.10 — PA-1000
10/4(%) £Y QAT E R — 0.10 — PA-1000
QRUFH — 0.09 — PA-1000
Oghth Bl EB (F R ML) — 0.10 — PA-1000
8/5(8) Eh ®x7°'{>/7“5&§ﬂiz — 0.11 — PA-1000
QRUFH — 0.10 — PA-1000
AEYE B — o1 — PA-1000 EGRFHIE (REFRIFH D AT GEIE 5 % S5 )
Oghth Bl EB (F R MEHEE) —_ 0.10 — PA-1000
6/4(K) Bh QAT HE R — 0.11 — PA-1000
QRUF; — 0.10 — PA-1000
OEih Bl ER (4 R MEfiZE) — 0.09 — PA-1000
4/16 (K) BN QRFT) B — 0.10 — PA-1000
QRUFH — 0.11 — PA-1000
6/9 (B4
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TR 244F
I B - X 0E 1% 5 AEERATAL—ANEEE) | g e
5cm 50cm 100cm
Dt i ED (X A MERZE) — 0.10 — PA-1000
3/4(B) &Y QRF) T B — 0.12 — PA-1000
QRUFH — 0.10 — PA-1000
OFih dh L ER (& R MEfZE) — 0.10 — PA-1000
2/1(£) BN QRTIL T BER — 0.16 — PA-1000
QRUFH — 0.12 — PA-1000
. OEih Bl ER (4 R MfiZE) — 0. 11 — PA-1000
: /;FéffSém QR #E — 0.10 — PA-1000
QRUFH — 0.12 — PA-1000
DEih dh il ER (& R MEf%E) — 0.10 — PA-1000
12/4() £Y QAT T BER — 0. 11 — PA-1000
QRUFH; — 0. 11 — PA-1000
OEith Bl ER (4 R MfiZE) — 0. 11 — PA-1000
11/7(k) BN QAT HE R — 0.13 — PA-1000
QRUFH — 0. 11 — PA-1000
Dt i ED (4 R MERLE) — 0.10 — PA-1000
1072 (K) BEh Q@RI ER; — 0. 11 — PA-1000
QRUFH; — 0.12 — PA-1000
7/9 (B4
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SERL244EE
I B - X 0E 1% 5 AEERATAL—ANEEE) | g e
5cm 50cm 100cm

Dt i ED (X A MERZE) — 0.10 — PA-1000

9/4 (X)) BN QAT HER — 0.13 — PA-1000
QRUFH — 0.13 — PA-1000

OFih Bl ER (& R MfZE) — 0. 11 — PA-1000

8/2 (K) BB QAT W E R — 0.13 — PA-1000
QRUFH — 0.13 — PA-1000

OEih Bl ER (4 R MfiZE) — 0.12 — PA-1000

7/3 (R) EBHh QRF T HER — 0.13 — PA-1000
QRUFH — 0.14 — PA-1000

OEih dh il ER (& R MEf%E) — 0.12 — PA-1000

6/7 (K) BEh @RI HER; — 0.13 — PA-1000
QRUFH — 0.16 — PA-1000

OEih Bl ER (4 R MEfiZE) — 0.13 — PA-1000

5/8 (k) EENh QRTILTHER — 0. 14 — PA-1000
QRUFH — 0.14 — PA-1000

Dt i ED (X R MERZE) — 0. 14 — PA-1000

4/12 (K) Bh @RI THER; — 0. 15 — PA-1000
QRUFH; — 0.15 — PA-1000

8/9 (B4
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TR 234ERE
OFih Bl ER (& R MEfZE) — 0. 14 — PA-1000
3/7 (k) £Y QRFITHER — 0.12 — PA-1000
QRUF — 0.16 — PA-1000
Dt i ED (X A MERZE) — 0.14 0.13 PA-1000
2/2(R) Bn QAT HER — 0.16 — PA-1000
QRUF — 0.14 — PA-1000
T RoatE OFih Bl ER (& R MfZE) — 0.17 0. 15 PA-1000
1L110K) B QAT HER — 0.16 — PA-1000
QRUFH — 0.15 — PA-1000
12 60Kk) BY Bth AR (2 R NEHEE) — 0.17 0. 15 PA-1000
FAERN A KA A — 0.19 — PA-1000
11.718(%) £Y FAED A HEA A — 0.19 — PA-1000
11,780K) BEN | BthehibER (X R ME) — 0.15 0.14 PA-1000
1024(F) BY Bth AR (2 R NERER) — 0. 15 0. 16 PA-1000
HE A A — 0.18 — PA-1000
9 /Zi(mﬁz‘?ifiu KEA — 0.19 — PA-1000

9/9 (B4



